

Generalized Laguerre transforms of sequences

GHANIA GUETTAI, DIFFALAH LAISSAOU and MOURAD RAHMANI

ABSTRACT. In our present research, we investigate a new class of polynomials which we call the associated polynomials. Firstly, we drive a general identity which generalizes the Laguerre transform of a sequence. More precisely, we give a three-term recurrence formula for calculating the associated polynomials. Secondly, as an application, we define the associated Fibonacci polynomials.

1. INTRODUCTION

The classical Laguerre polynomials $L_n(x)$ [2, 5] are usually defined by the following generating function

$$\frac{1}{1-z} \exp\left(-\frac{xz}{1-z}\right) = \sum_{n \geq 0} L_n(x) z^n$$

and can be computed explicitly by

$$L_n(x) = \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{x^k}{k!}.$$

The associated Laguerre polynomials $L_n^m(x)$ [1, 2] are defined by

$$L_n^m(x) = (-1)^m \frac{d^m}{dx^m} L_{n+m}(x) \tag{1.1}$$

and can be computed recursively by

$$(n+1)L_{n+1}^{m-1}(x) = (m+n)L_n^{m-1}(x) - xL_n^m(x).$$

These polynomials can be put in an infinite matrix $\mathcal{L} = (L_n^m(x))_{n,m \geq 0}$ in which the first column $L_n^0(x) = L_n(x)$ is the classical Laguerre polynomials.

$$\mathcal{L} = \begin{pmatrix} 1 & 1 & 1 & 1 & \dots \\ 1-x & 2-x & 3-x & 4-x & \dots \\ \frac{1}{2}x^2 - 2x + 1 & \frac{1}{2}x^2 - 3x + 3 & \frac{1}{2}x^2 - 4x + 6 & \vdots & \\ -\frac{1}{6}x^3 + \frac{3}{2}x^2 - 3x + 1 & -\frac{1}{6}x^3 + 2x^2 - 6x + 4 & \vdots & & \\ \frac{1}{24}x^4 - \frac{2}{3}x^3 + 3x^2 - 4x + 1 & \vdots & \vdots & & \\ \vdots & \vdots & \vdots & & \\ L_n^0(x) := L_n & L_n^1(x) & L_n^2(x) & & \end{pmatrix}. \tag{1.2}$$

Received: 19.04.2022. In revised form: 04.01.2023. Accepted: 11.01.2023
 2020 Mathematics Subject Classification. 11B73, 11B83, 65C50.

Key words and phrases. *Laguerre transform, associated Laguerre polynomials, Fibonacci numbers, explicit formulas, generating functions.*

Corresponding author: Mourad Rahmani; rahmani.mourad@gmail.com

Let $(a_n(x))_{n \geq 0}$ be any sequence of polynomials of the form

$$a_n(x) = \sum_{k=0}^n \binom{n}{k} \lambda_k x^k,$$

where $(\lambda_k)_{k \geq 0}$ a sequence depend on k .

The aim of this paper is to study the properties of the associated polynomials $a_{n,m}(x)$ satisfying the following conditions:

$$a_{n,m}(x) = (-1)^m \frac{d^m}{dx^m} a_{n+m}(x) \quad (1.3)$$

and

$$a_{n+1,m}(x) = \left(1 + \frac{m}{n+1}\right) a_{n,m}(x) - \frac{x}{n+1} a_{n,m+1}(x). \quad (1.4)$$

The idea is to construct an infinite matrix $\mathcal{M} := (a_{n,m}(x))_{n,m \geq 0}$ in which the first row $\alpha_m := a_{0,m}$ of the matrix is the initial sequence and the first column $\beta_n := a_{n,0}(x)$ is the final sequence. More precisely, for x nonzero complex number, we propose to study the three-term recurrence relation (1.4) or more simply, we propose to generalize the following Laguerre transformation. Recall that the Laguerre transform [8] of a sequence $(\alpha_n)_{n \geq 0}$ is the sequence $(\beta_n(x))_{n \geq 0}$ given by

$$\beta_n(x) = \sum_{k=0}^n \binom{n}{k} \frac{(-x)^k}{k!} \alpha_k \quad (1.5)$$

and the inverse transform is

$$\alpha_n = n! \sum_{k=0}^n (-1)^k \binom{n}{k} x^{-n} \beta_k(x).$$

We note that if $a_{n,m}(x)$ satisfies (1.3) then the initial sequence α_m does not depend on x . For similar studies see [6, 7, 9].

2. THE GENERALIZED LAGUERRE TRANSFORM

Theorem 2.1. *Given an initial sequence $\alpha_m := a_{0,m}$, define the matrix \mathcal{M} associated with the initial sequence by (1.4) then*

i) *The entries of the matrix \mathcal{M} are given by*

$$a_{n,m}(x) = \sum_{k=0}^n (-1)^k \binom{n+m}{n-k} \frac{x^k}{k!} \alpha_{m+k}. \quad (2.6)$$

ii) *Suppose that the initial sequence α_{m+s} has the following exponential generating function $A_s(z) = \sum_{k \geq 0} \alpha_{k+s} \frac{z^k}{k!}$. Then, the sequence $(a_{n,s}(x))_{n \geq 0}$ of the s th columns of the matrix \mathcal{M} has an ordinary generating functions $B_s(z; x) = \sum_{n \geq 0} a_{n,s}(x) z^n$, given by*

$$B_s(z; x) = \frac{1}{(1-z)^{s+1}} A_s\left(-\frac{xz}{1-z}\right). \quad (2.7)$$

Proof. From

$$a_{n,m}(x) = (-1)^m \frac{d^m}{dx^m} a_{n+m}(x)$$

and using the Laguerre transform (1.5) we obtain

$$\begin{aligned} a_{n,m}(x) &= (-1)^m \frac{d^m}{dx^m} \sum_{k=0}^{n+m} \binom{n+m}{k} \frac{(-x)^k}{k!} \alpha_k \\ &= (-1)^m \sum_{k=0}^{n+m} (-1)^k \binom{n+m}{k} \frac{x^{k-m}}{(k-m)!} \alpha_k. \end{aligned}$$

After some rearrangement, we find (2.6).

Now by using (2.6), we obtain

$$\begin{aligned} B_s(z; x) &= \sum_{n \geq 0} \left(\sum_{k=0}^n (-1)^k \binom{n+s}{n-k} \frac{x^k}{k!} \alpha_{s+k} \right) z^n \\ &= \sum_{k \geq 0} (-1)^k \frac{x^k}{k!} \alpha_{k+s} \sum_{n \geq 0} \binom{n+s}{n-k} z^n. \end{aligned}$$

Since

$$\sum_{n \geq 0} \binom{n+s}{n-k} z^n = \frac{z^k}{(1-z)^{s+k+1}},$$

we get

$$B_s(z; x) = \frac{1}{(1-z)^{s+1}} \sum_{k \geq 0} \frac{1}{k!} \alpha_{k+s} \left(-\frac{xz}{1-z} \right)^k.$$

This evidently completes the proof of Theorem. □

Theorem 2.2. *Given final sequence $\beta_n := a_{n,0}(x)$, define the matrix \mathcal{M} associated with the final sequence by*

$$a_{n,m+1}(x) = \left(\frac{n+m+1}{x} \right) a_{n,m}(x) - \left(\frac{n+1}{x} \right) a_{n+1,m}(x), \tag{2.8}$$

then

i) *The entries of the matrix \mathcal{M} are given by*

$$a_{n,m}(x) = x^{-m} \sum_{k=0}^m (-1)^k \frac{(n+m)!}{n!} \binom{m}{m-k} \beta_{n+k}(x). \tag{2.9}$$

ii) *Suppose that the final sequence β_{n+s} has the following ordinary generating function $\mathcal{B}_s(z) = \sum_{k \geq 0} \beta_{k+s} z^k$. Then, the sequence $(a_{s,m}(x))_{m \geq 0}$ of the s th row of the matrix \mathcal{M} has an expo-*

ponential generating function $\mathcal{A}_s(z; x) = \sum_{m \geq 0} a_{s,m}(x) \frac{z^m}{m!}$, given by

$$\mathcal{A}_s(z; x) = \frac{(-1)^s x}{s!(x-z)^{s+1}} \left((x-z)^2 \frac{d}{dz} \right)^s \left(\left(\frac{z}{z-x} \right)^s \mathcal{B}_s \left(\frac{z}{z-x} \right) \right). \tag{2.10}$$

Proof. The verification of (2.9) follows by induction on m . According to (2.9), we have

$$\begin{aligned} \mathcal{A}_s(z; x) &= \sum_{m \geq 0} \left(x^{-m} \sum_{k=0}^m (-1)^k \frac{(s+m)!}{s!} \binom{m}{m-k} \beta_{s+k} \right) \frac{z^m}{m!} \\ &= \sum_{k \geq 0} (-1)^k \beta_{s+k} \sum_{m \geq 0} \frac{(s+m)!}{s!m!} \binom{m}{m-k} \left(\frac{z}{x}\right)^m \\ &= \sum_{k \geq 0} (-1)^k \beta_{s+k} \binom{s+k}{s} \sum_{m \geq 0} \binom{s+m}{s+k} \left(\frac{z}{x}\right)^m. \end{aligned}$$

Using the fact that

$$\sum_{m \geq 0} \binom{s+m}{s+k} \left(\frac{z}{x}\right)^m = \frac{x^{s+1}}{(x-z)^{k+s+1}} z^k$$

and

$$\binom{k+s}{s} t^k = \frac{1}{s!} \frac{d^s}{dt^s} t^{k+s}$$

we obtain

$$\begin{aligned} \mathcal{A}_s(z; x) &= \frac{x^{s+1}}{(x-z)^{s+1}} \sum_{k \geq 0} \beta_{s+k} \binom{s+k}{s} \left(-\frac{z}{x-z}\right)^k \\ &= \frac{x^{s+1}}{(x-z)^{s+1}} \sum_{k \geq 0} \beta_{s+k} \frac{1}{(-x)^s s!} \left((x-z)^2 \frac{d}{dz}\right)^s \left(\frac{z}{z-x}\right)^{k+s} \\ &= \frac{(-1)^s x}{s!(x-z)^{s+1}} \left((x-z)^2 \frac{d}{dz}\right)^s \left[\left(\frac{z}{z-x}\right)^s \mathcal{B}_s \left(\frac{z}{z-x}\right) \right] \end{aligned}$$

which completes the proof. □

Corollary 2.1. For $n, m \geq 0$, we have

$$\sum_{k=0}^n (-1)^k \binom{n+m}{n-k} \frac{x^k}{k!} \alpha_{m+k} = x^{-m} \sum_{k=0}^m (-1)^k \frac{(n+m)!}{n!} \binom{m}{k} \beta_{n+k}. \tag{2.11}$$

The identity (2.11) can be viewed as the generalized Laguerre transform which can be reduced, for $m = 0$ to the Laguerre transform of the sequence α_n , and for $n = 0$ to the inverse Laguerre transform of the sequence β_m .

Example 2.1. Setting the initial sequence $a_{0,m} = 1$ in (1.4), we get (1.2). Since $A_m(z) = \exp(z)$, it follows from (2.7) that the final sequence has an ordinary generating function given by

$$\sum_{n \geq 0} L_n^m(x) z^n = \frac{1}{(1-z)^{m+1}} \exp\left(-\frac{xz}{1-z}\right). \tag{2.12}$$

Now, from Corollary 2.1, we have

$$\begin{aligned} L_n^m(x) &= \sum_{k=0}^n (-1)^k \binom{n+m}{n-k} \frac{x^k}{k!} \\ &= x^{-m} \sum_{k=0}^m (-1)^k \frac{(n+m)!}{n!} \binom{m}{k} L_{n+k}(x). \end{aligned}$$

Theorem 2.3. We consider a matrix $\mathcal{L} = (L_n^m(x))_{n,m \geq 0}$ of order $n + 1$ arising from (1.4) with initial sequence $a_{0,m} = 1$, then

$$\det \mathcal{L} = 1,$$

where \det denotes determinant.

Proof. Let C_j denote the j th column of \mathcal{L} . By applying repeatedly the following operation from $1 \leq r \leq n$

$$C_{n-j} \leftarrow C_{n-j} - C_{n-j-1} \quad (0 \leq j \leq n - r),$$

we get a lower triangular matrix with diagonal equal to 1

$$\mathcal{L} = \left(\sum_{k=0}^i (-1)^k \binom{i}{k+j} \frac{x^k}{k!} \right)_{0 \leq i, j \leq n}.$$

Since the value of a determinant is unaltered by adding to any one column a linear combination of all the other columns, we get the desired result. \square

3. ON THE ASSOCIATED FIBONACCI POLYNOMIALS

The classical Fibonacci numbers F_n [4] are given by the ordinary generating function

$$\frac{z}{1 - z - z^2} = \sum_{n \geq 0} F_n z^n \tag{3.13}$$

and the general term can be expressed as

$$F_n = \frac{1}{\sqrt{5}} (\alpha^n - \beta^n), \tag{3.14}$$

where $\alpha = \frac{1+\sqrt{5}}{2}$ and $\beta = \frac{1-\sqrt{5}}{2}$.

Setting the initial sequence $a_{0,m} := -m!F_m$ in (1.4), we get the following matrix

$$\mathcal{F} = \begin{pmatrix} 0 & -1 & -2 & -12 & -72 \\ x & 2x - 2 & 12x - 6 & 72x - 48 & \dots \\ -x^2 + 2x & -6x^2 + 6x - 3 & -36x^2 + 48x - 12 & \vdots & \\ 2x^3 - 3x^2 + 3x & 12x^3 - 24x^2 + 12x - 4 & \vdots & \vdots & \\ -3x^4 + 8x^3 - 6x^2 + 4x & \vdots & \vdots & \vdots & \\ \vdots & \vdots & \vdots & \vdots & \\ \mathbb{F}_n^0(x) := \mathbb{F}_n(x) & \mathbb{F}_n^1(x) & \mathbb{F}_n^2(x) & & \end{pmatrix}$$

Let denotes the final sequence $a_{n,0} := \mathbb{F}_n(x)$. Now, we can introduce the m -associated Fibonacci polynomials.

Definition 3.1. The m -associated Fibonacci polynomials $\mathbb{F}_n^m(x)$ are defined by the following generating function:

$$\frac{m!}{\alpha - \beta} \left(\frac{\beta^m}{(1 - z + \beta xz)^{m+1}} - \frac{\alpha^m}{(1 - z + \alpha xz)^{m+1}} \right) = \sum_{n \geq 0} \mathbb{F}_n^m(x) z^n.$$

For $x = 1$ and $m = 0$, we obtain the classical Fibonacci numbers (3.13). Now, from Corollary 2.1, we have the following explicit formulas

Theorem 3.4. For $m \geq 0$

$$\begin{aligned}\mathbb{F}_n^m(x) &= (-1)^m \frac{d^m}{dx^m} \mathbb{F}_{n+m}(x) \\ &= \sum_{k=0}^n (-1)^{k+1} \binom{n+m}{n-k} \frac{x^k}{k!} (m+k)! F_{m+k} \\ &= x^{-m} \sum_{k=0}^m (-1)^k \frac{(n+m)!}{n!} \binom{m}{k} \mathbb{F}_{n+k}(x).\end{aligned}$$

It is easy to show that $\mathbb{F}_n(x)$ obey the recurrence relation

$$\mathbb{F}_{n+2}(x) = (2-x)\mathbb{F}_{n+1}(x) + (x^2+x-1)\mathbb{F}_n(x), \quad (3.15)$$

with initial conditions $\mathbb{F}_0(x) = 0$ and $\mathbb{F}_1(x) = x$. From (3.14), we get the Binet's formula for $\mathbb{F}_n(x)$

$$\mathbb{F}_n(x) = \frac{1}{\sqrt{5}} (\beta^n(x) - \alpha^n(x)),$$

with $\alpha(x) = 1 - \alpha x$ and $\beta(x) = 1 - \beta x$ denote the roots of the characteristic equation of (3.15).

CONCLUSIONS

In this paper, we have presented an investigation of a certain family of polynomials which have the same properties as the associated Laguerre polynomials. The results of the generalized Laguerre transform generalize several well-known results and can be specialized to yield many known identities. More precisely, we have introduced new ways to study several associated polynomials, which have similar properties as those derived from associated Laguerre polynomials. Using a particular sequence, we developed a new extension of Fibonacci polynomials.

Dattoli and Torre in [3] defined two-variable Laguerre polynomials. For future direction, it is interesting to generalize our work to the two-variable cases and deepen the study of the associated Fibonacci polynomials. The applications of specific numbers and polynomials produced by the initial sequence in this paper are also planned to be studied and investigated soon.

Acknowledgements. The authors are grateful to referees for their careful reading, suggestions and valuable comments which have improved the paper substantially.

REFERENCES

- [1] Abramowitz, M.; Stegun, I. A. *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*. Dover Publications, Inc., New York, 1992.
- [2] Arfken, G. B.; Weber, H. J. *Mathematical methods for physicists*. Harcourt/Academic Press, Burlington, MA, 2001.
- [3] Dattoli, D.; Torre, A. Operatorial methods and two variable Laguerre polynomials. *Atti Accad. Sci. Torino, Cl. Sci. Fis. Mat. Nat.* **132** (1998), 3–9.
- [4] Kochy, T. *Fibonacci and Lucas Numbers with Applications*. John Wiley & Sons, 2019.
- [5] Lebedev, N. N. *Special functions and their applications*. Revised English edition Translated and edited by Richard A. Silverman *Prentice-Hall, Inc., Englewood Cliffs, N. J.* 1965.
- [6] Rahmani, M. The Akiyama-Tanigawa matrix and related combinatorial identities. *Linear Algebra Appl.* **438** (2013), 219–230.
- [7] Rahmani, M. Generalized Stirling transform. *Miskolc Math. Notes* **15** (2014), 677–690
- [8] Riordan, J. *An Introduction to Combinatorial Analysis* Dover Publications, Inc., Mineola, NY, 2002
- [9] Sebaoui, M., Laissaoui, D., Guettai, G., Rahmani, M., *On s-Lah polynomials*, *Ars Combin.*, **142** (2019), 111-118

UNIVERSITY YAHIA FARÈS MÉDÉA
FACULTY OF SCIENCE
URBAN POLE, 26000, MÉDÉA, ALGERIA
Email address: guettai78@yahoo.fr, laissaoui.diffalah74@gmail.com

USTHB
FACULTY OF MATHEMATICS
PO. BOX 32, EL ALIA, BAB EZZOUAR, 16111, ALGIERS, ALGERIA
Email address: rahmani.mourad@gmail.com